20201 &= M| = of 2HTE Al A

AR Bl (29l A49)
A+
: : el | D55 0 HE712(2)
A ] | A AR A7HE AH & = o

LA & 3,040 4,520 -1,480
1.z 52 8 AF7ts) 3,040 4,520 -1,480
1. w2 9A4 900 1,400 =500
1.AF4aAs 100 0 100

1. dnke8n) 100 0 100| 57 H] 50,0009 %19 #23]= 100,000
2. A&AF 800 0 800
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2. A BA /& Az} B A 25,614 24,201 1,413
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1.z21719] 1,050 0 1,050
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2. A7 AA 420 0 420
1.3 B2 ) 420 0 420 [ AZF3AAL 1 25,0009 %97 = 225,000
T7FZAAE 1 10,0009 597 = 90,000
2W7AA 15,0009 #2178 = 105,000
3. 274889 600 0 600
1.3 52 ] 600 0 600| 2FET9] © 20,0009 #25%= 500,000
AR ¢ 50,0009 #23]= 100,000
2.3t 34 9 A e 4,444 3,700 744
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37EA g 39,815 38,695 1,120
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2.8t 5FN & 400 0 400|870 X9 1 25,0009 #16%= 400,000
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1. 2789 300 0 300
1. a2 300 0 300| 2583 © 100,000 17]%33]= 300,000
2. E Y- 200 0 200
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LetsE s 900 0 900 ;gjogg)oig%i;e‘?@—s—zﬁ&u] 900,000
3.71%, 718w sts 600 0 600
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1. &g 759 0 759 | A2 AP EFH]) 1 30,0009 #2375 13]= 690,000
ZHAH] ¢ 3,0009%23™ #13]= 69,000
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3.:5o A 0 2,500|  -2,500
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4. RBGA T 2,700 1,224 1,476
1.3 YFA = 2,200 100 2,100
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1.5 200 0 200| A F3HA 3 4] : 100,000 %23]= 200,000
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1.0t g8t u sk 4 5 500 0 500
1. g RkEgH 500 0 500 |CCTVA &< 1 100,000 #53]= 500,000
6.3t Ak 83,015 69,858 13,157
1.A14 ] §A 54,523 49,188 5,335
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SHQF 1 10,0009+12Y= 120,000
QEYFAIN 420,000 %129 = 5,040,000
Aol BtEAlg 16,0009 +12¢€= 192,000
2. A1 #eE 8o 6,710 0 6,710
1. g Rk=8H 6,710 0 6,710 | A 7]k 2] &4H] @ 150,000 %124 = 1,800,000
AbAld ] &9H] 136,400 +129= 1,637,000
3FAIA A7 ¢ 800,00091%23]= 1,600,000
TNHAG7IE49H] 1 23,9009 77)%108= 1,673,000
3. A duktg 15,381 0 15,381
1. Yukegn) 14,381 0 14,381 [ A1 AR FTS) 1 50,0009 %105 *43]= 2,000,000
2R G4 625,000 %22 x43]= 5,000,000
:;;é:c}ﬂl%ﬂ 9 w54 1 100,000 #5% 1,000,000
A& dF ¢ 78,1002 +5U= 781,000
W7 1A e 1 50,0009 300 #23] = 3,000,000
FEBeH  100,0009 %55 %23 = 1,000,000
AEWFE-H A 0 200,0009+2m#4Q= 1,600,000
2. H]F 4] 1,000 0 1,000 AlE &R ¢ 250,000 #4E= 1,000,000
4.3 e 5,100 0 5,100
1. dHkE8n) 5,100 0 5,100 33 H 489 n] ¢ 375,0009 129 = 4,500,000
igi;l:ﬂlzal 9 ARETY 30,0009 600,000
5.34 7 4,200 0 4,200
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2. ANk F-3314) 500 0 500 |8t -2 A3 73] 0 100,0009 #57 = 500,000
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1.3 S 1,900 0 1,900
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ALEE M) ¢ 10,0009 %207 = 200,000
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3.8t 7] 25,852 18,070 7,782
1.5A 7] 829 25,648 18,070 7,578
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WA LA ZA] ¢ 50,0000 x18 #43]= 200,000
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AR 71 ARG 2 EY 0 100,0009 9 000.000
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f@f\}ﬁtﬁ%qﬂr,w} : 1680009 #2E+53) 1,680,000
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